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= 446,273 446,273 0
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2 123,494 123,494 0
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301 et d =S 1,985,700 1,787,318 198,382
= 650,277 569, 160 81,117
=) 516,880 472,639 44,241
Al 818,543 745,519 73,024
01 MEIBEZE 05z 1,985,700 1,787,318 198,382
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=) 100,921 92,299 8,622
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O 0RI0IY XY SE+g
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O SOt EO0HOF MEOE0E nAY SEE
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= 4,375,880 4,540,847 A 164,967
=) 2,177,935 2,270,424 A 92,489
Al 2,177,934 2,270,423 A 92,489
10 AFBIS X2 X 8,731,749 9,081,694 A 349,945




2N
X ZH -
L= B

el

GRS
-0 X 2 014 2 sST(AMI=EX/ES -0t
21 &

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O olelold mad ozl
A 8,731,749,0002 8,731,749 9,081,694 349,945
= 4,375,880 4,540,847 164,967
= 2,177,935 2,270,424 92,489
Al 2,177,934 2,270,423 92,489
2420 282 N 35,022,743 34,491,731 531,012
=2 15,065,453 15,697,382 631,929
< 15,901,208 14,564,381 1,336,827
Al 4,056,082 4,229,968 173,886
307 21240 & 35,022,743 34,491,731 531,012
=2 15,065,453 15,697,382 631,929
< 15,901,208 14,564,381 1,336,827
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